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Mean = 111.4 +£20.5 (18/18)
MSWD = 0.31, p( x?) =1.00

50 pm x 50 pm
Mean = 126.0 +32.9 (36/36)
MSWD = 0.37, p( x°) = 1.00
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Age = 129.9 +27.8/28.1 Ma (n=40) Age = 106.1 +20.2 / 20.5 Ma (n=71) Age = 107.5 +16.1/ 16.5 Ma (n=121)
S (*YPb/*®Pb) = 0.832 +£0.007 84 (*Pb/*°Pb) = 0.828 +0.006 S (*”Pb/**°Pb) .= 0.830 +0.006
MSWD = 1.0, p( x°) = 0.44 MSWD = 1.3, p( x°) =0.03 MSWD = 1.0, p( X°) = 0.40
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25 pm x 25 pm  (se < 20%)
Mean =129 +1.6 (18/18)

50 um x 50 pym
Mean = 13.1 +2.3 (36/36)

® MSWD = 0.21, p( x?) = 1.00 MSWD = 0.53, p( x%) = 1.00
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R I1 Age=135 +1.9/1.9 Ma (n=79) Age = 13.0 +1.7 / 1.8 Ma (n=85) © Age = 13.5 +2.0/ 2.0 Ma (n=32)
o) | CYPb/*®Pb) = 0.825 +0.003 ~l | (YPb/**Pb) = 0.824 +0.004 ~ (*” Pb/**Pb) = 0.819 +0.008
S MSWD = 1.2, p( x%) =0.11 o MSWD = 1.4, p( x°) =0.01 e MSWD = 1.1, p( x%) =0.30
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